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Vertical Division

Name:

Solve each problem.

1)

30[234

4)

30[274

7)

30[330

10)

20[126

2)

20[300

5)

10428

8)

80(880

11)

90[489

3)

80[480

6)

30[240

9)

20261

12)

10280

Answers

10.

11

12.
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Vertical Division

Name:

Answer Key

Solve each problem. Answers
iy 7124 2) 15 3) 6 . 7124
30[234 20[300 80[480 |
0 0 0 2 15
23 30 48
0 20 0 s 08
234 100 480 s 914
210 100 480
24 0 0 5 4218
4) 9r4 5) 4218 6) 8 3
30[274 10[428 30[240 i
0 0 0 7 11
27 42 24
0 40 0 o 11
274 28 240 . 13r1
270 20 240
4 8 0 10. 6r6
7) 11 8) 11 9) 13r1 5r39
11.
30[330 80(880 20261
0 0 0 12, 28
33 88 26
30 80 20
30 80 61
30 80 60
0 0 1
10) 616 11) 5139 12) 28
20126 90[489 10280
0 0 0
12 48 28
0 0 20
126 489 80
120 450 80
6 39 0
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# Vertical Division

Name:

Solve each problem.

Answers

8 9r4 7 124

11 6 15

11 42 r8 13 rl
1) 2) 3)

30[234 20300

4) 5)

30[274 10428

7) 8)

30[330 80[880

80(480

6)

30[240

9)

20[261

M odified
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